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2. Corrections required for NBIOT test case 22.3.1.3
Change 1 f_TC_22_3_1_3_NBIOT ()
	Function name
	f_TC_22_3_1_3_NBIOT ()

	Reason for change
	1. The transmission of the DL Data and the allocation of the UL grant is done with immediate activation time in this testcase. This does not take into account the transit time through the stack of the DL data to get eventually transmitted by L1, with the UL grant, the interface contols the lower layers to allocate an UL grant. Hence, it does not guarantee that the Downlink Data will be sent before the uplink grant allocation. Therefore it is recommended to use activation times to co-ordinate the DL Data transmission and the allocation of the UL grants.

2. At Step 8, according to the Prose, the SS allocates one UL grant sufficient for one RLC SDU and similarly, at Step 10, the SS allocates one UL grant sufficient for one RLC SDU
However, the default UL grant combination of MCS=10, RA=5 results in 1000 bits which is very high for the amount of data to be received. It is recommended to only allocate an UL grant sufficiently big enough to fit the RLC PDU.

	Summary of change
	1. Introduced activation times to co-ordinate the DL Data transmission and allocation of the UL Grants
2. The TB Size is dropped to 600 bits by way of setting the MCS=6, RA=5

	TTCN module
	NBIOT_MAC_Testcases.ttcn

	MCC160 Comment
	


Before Change:

	function f_TC_22_3_1_3_NBIOT() runs on NBIOT_PTC

  {

    var NBIOT_CellId_Type v_CellId := nbiot_Cell1;

    var NBIOT_IDLEUPDATED_STATE_Type v_TestLoopMode := STATE2A_NB_TESTLOOP_ModeG;      // !!!! FFS: to be specified in the prose !!!!

    var NB_RLC_CountsInfoList_Type v_RLC_CountsInfoListByRef;                         // RLC status to be maintained by Send/Receive functions

    var template (value) RLC_SDU_Type v_RlcSdu;

    var template (value) RLC_SDUList_Type v_RlcSduList;

    var EUTRA_ASN1_C_RNTI_Type v_C_RNTI;

    var NB_L2_DATA_IND v_NB_L2_DATA_IND;

    var TimingInfo_Type v_Timestamp;

    var SubFrameTiming_Type v_SearchSpaceForULTransmission;

    var template (value) TimingInfo_Type v_TimingInfo;

    var template (value) NB_DciUlInfo_Type v_DciUlInfo;

    var template (value) NB_UL_TransRetransmissionList_Type v_TransRetransmissionList;

    var SubFrameTiming_Type v_TimingStart;

    var template (present) MAC_PDU_Type v_MAC_PDU_RX;

    var template (present) MAC_SDUList_Type v_MAC_SDUList_RX;

    var template (value) NB_DciUlInfo_Type v_ULGrant;

    var integer v_IncrementVRR;

    f_NBIOT_L2_Preamble_State2B_NB(v_RLC_CountsInfoListByRef, v_CellId, TransparentMode_RLC_MAC, v_TestLoopMode);

    //------------------------------------

    f_NBIOT_TestBody_Set(true, layer2);

    v_C_RNTI := f_NBIOT_CellInfo_GetC_RNTI(v_CellId);

    v_TimingStart := f_NBIOT_GetNextSearchSpace(v_CellId, tsc_NBIOT_CPModeSendRlcSdus_SchedulingDelay);    /* @sic R5s170236 change 2: 200ms offset sic@ */

    v_TimingInfo := cs_TimingInfo_SubFrameFull(v_TimingStart);

    // NOTE: steps 1 - 6 correspond to LTE test case 7.1.4.1

    //@siclog "Step 1" siclog@

    v_RlcSdu := crs_PDCP_SDU_16B;                // same as in TC_7_1_4_1 step 2

    v_RlcSduList := { v_RlcSdu };

    f_NBIOT_MAC_CPMode_SendRlcSdus(v_RLC_CountsInfoListByRef, v_CellId, v_TestLoopMode, v_TimingInfo, v_RlcSduList);

    //@siclog "Step 2 - 3" siclog@

    v_TimingInfo := cs_TimingInfo_SubFrameFull(f_NBIOT_IncrementSearchSpace(v_TimingStart, 0.5));

    f_NBIOT_SS_ConfigActiveCellInfo(v_CellId, v_TimingInfo, cs_NB_NewC_RNTI_ConfigReq(tsc_C_RNTI_Def2));

    v_TimingInfo := cs_TimingInfo_SubFrameFull(f_NBIOT_IncrementSearchSpace(v_TimingStart, 1.0));

    v_ULGrant := cs_NB_DciInfo_CcchDcchDtchUL(0, 10);  /* @sic R5s170970: to avoid timing issues grants shall take just one RU => 144 bits sic@ */

    f_NBIOT_ULGrantTransmission(v_CellId, cs_NB_UL_GrantScheduling_Start(cs_NB_PeriodicGrant(v_ULGrant, 10)), v_TimingInfo);  /* 10 times grant of 144 bits */

    //@siclog "Step 4" siclog@

    v_TimingInfo := cs_TimingInfo_SubFrameFull(f_NBIOT_IncrementSearchSpace(v_TimingStart, 10.5));

    f_NBIOT_SS_ConfigActiveCellInfo(v_CellId, v_TimingInfo, cs_NB_NewC_RNTI_ConfigReq(v_C_RNTI));

    v_SearchSpaceForULTransmission := f_NBIOT_IncrementSearchSpace(v_TimingStart, 11.0);

    v_TimingInfo := cs_TimingInfo_SubFrameFull(v_SearchSpaceForULTransmission);

    f_NBIOT_ULGrantTransmission(v_CellId, cs_NB_UL_GrantScheduling_Start(cs_NB_SingleGrant), v_TimingInfo);            // one default grant

    //@siclog "Step 5" siclog@

    v_MAC_PDU_RX := f_NBIOT_MacPdu_SingleRlcAmdPdu_RX(-, v_RlcSdu);

    v_NB_L2_DATA_IND := f_NBIOT_MAC_CPMode_MacPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_MAC_PDU_RX);

    v_Timestamp := v_NB_L2_DATA_IND.Common.TimingInfo;

    if (not f_NBIOT_TimeStamp_CheckSearchSpace(v_SearchSpaceForULTransmission, v_Timestamp.SubFrame)) {

      f_NBIOT_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 3 - MAC PDU not received within search space corresponding to UL grant of step 4");

    } else {

      f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 5");

    }

    //@siclog "Step 6" siclog@

    f_NBIOT_MAC_CPMode_SendRlcStatus(v_RLC_CountsInfoListByRef, v_CellId);

    //@siclog "Step 7" siclog@

    f_NBIOT_MAC_CPMode_SendRlcSdus(v_RLC_CountsInfoListByRef, v_CellId, v_TestLoopMode, -, v_RlcSduList);

    //@siclog "Step 8, 10" siclog@

    v_TransRetransmissionList := {

      cs_NB_UL_TransRetransmission_NewTransmission,             // step 8

      cs_NB_UL_TransRetransmission_ReTransmission(1)            // step 10

    };

    v_DciUlInfo := cs_NB_DciInfo_CcchDcchDtchUL(-, -, v_TransRetransmissionList);     // use default grant (i.e. maximum grant)

    f_NBIOT_ULGrantTransmission(v_CellId, cs_NB_UL_GrantScheduling_Start(cs_NB_SingleGrant(v_DciUlInfo)));

    // MAC PDU as expected for step 9 and 11

    v_MAC_PDU_RX := f_NBIOT_MacPdu_SingleRlcAmdPdu_RX(-, v_RlcSdu);

    //@siclog "Step 9" siclog@

    v_IncrementVRR := 0; /* AM_VRR shall not be incremented for this step as there is an adaptive HARQ restransmission at step 11 */

    f_NBIOT_MAC_CPMode_MacPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_MAC_PDU_RX, v_IncrementVRR);

    f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 9");

    //@siclog "Step 11" siclog@

    f_NBIOT_MAC_CPMode_MacPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_MAC_PDU_RX);

    f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 11");

    //@siclog "Step 12" siclog@

    f_NBIOT_MAC_CPMode_SendRlcStatus(v_RLC_CountsInfoListByRef, v_CellId);

    //@siclog "Step 13" siclog@

    v_RlcSduList := { crs_PDCP_SDU_15B };

    f_NBIOT_MAC_CPMode_SendRlcSdus(v_RLC_CountsInfoListByRef, v_CellId, v_TestLoopMode, -, v_RlcSduList, tsc_Poll);

    //@siclog "Step 14" siclog@

    f_NBIOT_ULGrantTransmission_ExplicitGrant(v_CellId, 2, 3);  // UL grant of 176 bits (ITBS=3, IRU=2)

    //@siclog "Step 15" siclog@

    f_NBIOT_MAC_CPMode_RlcStatusPdu_RlcAmdPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_RlcSduList);

    f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 15");

    //@siclog "Step 16" siclog@

    f_NBIOT_MAC_CPMode_SendRlcStatus(v_RLC_CountsInfoListByRef, v_CellId);

    //@siclog "Step 17" siclog@

    // Void

    //@siclog "Step 18" siclog@

    v_RlcSdu := crs_PDCP_SDU_8B;

    v_RlcSduList := { v_RlcSdu };

    f_NBIOT_MAC_CPMode_SendRlcSdus(v_RLC_CountsInfoListByRef, v_CellId, v_TestLoopMode, -, v_RlcSduList);

    //@siclog "Step 19" siclog@

    f_NBIOT_ULGrantTransmission_ExplicitGrant(v_CellId, 2, 3);  // UL grant of 176 bits (ITBS=3, IRU=2)

    //@siclog "Step 20" siclog@

    v_MAC_SDUList_RX := { f_NBIOT_MacSdu_RlcAmdPdu_RX(v_RlcSduList) };

    v_MAC_PDU_RX := f_NBIOT_MacPdu_BSR_MacSdus_Padding_RX(-, normalPadding, anyBSR, v_MAC_SDUList_RX);

    f_NBIOT_MAC_CPMode_MacPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_MAC_PDU_RX);

    f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 20");

    //@siclog "Step 20A" siclog@

    f_NBIOT_MAC_CPMode_SendRlcStatus(v_RLC_CountsInfoListByRef, v_CellId);  /* @sic R5-172834/R5s170236 change 6 sic@ */

    //@siclog "Step 21" siclog@

    v_RlcSdu := crs_PDCP_SDU_11B;            // RLC SDU of 11 bytes results in AM RLC PDU of 13 bytes

    v_RlcSduList := { v_RlcSdu };

    f_NBIOT_MAC_CPMode_SendRlcSdus(v_RLC_CountsInfoListByRef, v_CellId, v_TestLoopMode, -, v_RlcSduList);

    //@siclog "Step 22" siclog@

    f_NBIOT_ULGrantTransmission_ExplicitGrant(v_CellId, 4, 0);  // UL grant of 120 bits (ITBS=0, IRU=4)   @sic R5s170236 change 7: IRU=4 sic@

    //@siclog "Step 23" siclog@

    v_MAC_SDUList_RX := { f_NBIOT_MacSdu_RlcAmdPdu_RX(v_RlcSduList) };

    v_MAC_PDU_RX := f_NBIOT_MacPdu_BSR_MacSdus_Padding_RX(-, singleBytePadding, noBSR, v_MAC_SDUList_RX);  // @sic R5s170236 change 8: noBSR sic@

    f_NBIOT_MAC_CPMode_MacPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_MAC_PDU_RX);

    f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 23");

    //@siclog "Step 23A" siclog@

    f_NBIOT_MAC_CPMode_SendRlcStatus(v_RLC_CountsInfoListByRef, v_CellId);  /* @sic R5-172834/R5s170236 change 6 sic@ */

    //@siclog "Step 24" siclog@

    v_RlcSdu := crs_PDCP_SDU_8B;

    v_RlcSduList := { v_RlcSdu };

    f_NBIOT_MAC_CPMode_SendRlcSdus(v_RLC_CountsInfoListByRef, v_CellId, v_TestLoopMode, -, v_RlcSduList);

    f_NBIOT_ULGrantTransmission_ExplicitGrant(v_CellId, 4, 0);  // UL grant of 120 bits (ITBS=0, IRU=4)   @sic R5s170236 change 7: IRU=4 sic@

    //@siclog "Step 26" siclog@

    v_MAC_SDUList_RX := { f_NBIOT_MacSdu_RlcAmdPdu_RX(v_RlcSduList) };

    v_MAC_PDU_RX := (f_NBIOT_MacPdu_BSR_MacSdus_Padding_RX(-, twoBytePadding, anyBSR, v_MAC_SDUList_RX),

                     f_NBIOT_MacPdu_BSR_MacSdus_Padding_RX(-, normalPadding,  anyBSR, v_MAC_SDUList_RX));

    f_NBIOT_MAC_CPMode_MacPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_MAC_PDU_RX);

    f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 26");

    //@siclog "Step 27" siclog@

    f_NBIOT_MAC_CPMode_SendRlcStatus(v_RLC_CountsInfoListByRef, v_CellId);  /* @sic R5-172834/R5s170236 change 6 sic@ */

    f_NBIOT_TestBody_Set(false);

    //------------------------------------

    f_NBIOT_L2_Postamble_State2B_NB(v_CellId, v_RLC_CountsInfoListByRef.AM_VTS, v_RLC_CountsInfoListByRef.AM_VRR);

  } 



After Change:

	function f_TC_22_3_1_3_NBIOT() runs on NBIOT_PTC

  {

    var NBIOT_CellId_Type v_CellId := nbiot_Cell1;

    var NBIOT_IDLEUPDATED_STATE_Type v_TestLoopMode := STATE2A_NB_TESTLOOP_ModeG;      // !!!! FFS: to be specified in the prose !!!!

    var NB_RLC_CountsInfoList_Type v_RLC_CountsInfoListByRef;                         // RLC status to be maintained by Send/Receive functions

    var template (value) RLC_SDU_Type v_RlcSdu;

    var template (value) RLC_SDUList_Type v_RlcSduList;

    var EUTRA_ASN1_C_RNTI_Type v_C_RNTI;

    var NB_L2_DATA_IND v_NB_L2_DATA_IND;

    var TimingInfo_Type v_Timestamp;

    var SubFrameTiming_Type v_SearchSpaceForULTransmission;

    var template (value) TimingInfo_Type v_TimingInfo;

    var template (value) NB_DciUlInfo_Type v_DciUlInfo;

    var template (value) NB_UL_TransRetransmissionList_Type v_TransRetransmissionList;

    var SubFrameTiming_Type v_TimingStart;

    var template (present) MAC_PDU_Type v_MAC_PDU_RX;

    var template (present) MAC_SDUList_Type v_MAC_SDUList_RX;

    var template (value) NB_DciUlInfo_Type v_ULGrant;

    var integer v_IncrementVRR;

    f_NBIOT_L2_Preamble_State2B_NB(v_RLC_CountsInfoListByRef, v_CellId, TransparentMode_RLC_MAC, v_TestLoopMode);

    //------------------------------------

    f_NBIOT_TestBody_Set(true, layer2);

    v_C_RNTI := f_NBIOT_CellInfo_GetC_RNTI(v_CellId);

    v_TimingStart := f_NBIOT_GetNextSearchSpace(v_CellId, tsc_NBIOT_CPModeSendRlcSdus_SchedulingDelay);    /* @sic R5s170236 change 2: 200ms offset sic@ */

    v_TimingInfo := cs_TimingInfo_SubFrameFull(v_TimingStart);

    // NOTE: steps 1 - 6 correspond to LTE test case 7.1.4.1

    //@siclog "Step 1" siclog@

    v_RlcSdu := crs_PDCP_SDU_16B;                // same as in TC_7_1_4_1 step 2

    v_RlcSduList := { v_RlcSdu };

    f_NBIOT_MAC_CPMode_SendRlcSdus(v_RLC_CountsInfoListByRef, v_CellId, v_TestLoopMode, v_TimingInfo, v_RlcSduList);

    //@siclog "Step 2 - 3" siclog@

    v_TimingInfo := cs_TimingInfo_SubFrameFull(f_NBIOT_IncrementSearchSpace(v_TimingStart, 0.5));

    f_NBIOT_SS_ConfigActiveCellInfo(v_CellId, v_TimingInfo, cs_NB_NewC_RNTI_ConfigReq(tsc_C_RNTI_Def2));

    v_TimingInfo := cs_TimingInfo_SubFrameFull(f_NBIOT_IncrementSearchSpace(v_TimingStart, 1.0));

    v_ULGrant := cs_NB_DciInfo_CcchDcchDtchUL(0, 10);  /* @sic R5s170970: to avoid timing issues grants shall take just one RU => 144 bits sic@ */

    f_NBIOT_ULGrantTransmission(v_CellId, cs_NB_UL_GrantScheduling_Start(cs_NB_PeriodicGrant(v_ULGrant, 10)), v_TimingInfo);  /* 10 times grant of 144 bits */

    //@siclog "Step 4" siclog@

    v_TimingInfo := cs_TimingInfo_SubFrameFull(f_NBIOT_IncrementSearchSpace(v_TimingStart, 10.5));

    f_NBIOT_SS_ConfigActiveCellInfo(v_CellId, v_TimingInfo, cs_NB_NewC_RNTI_ConfigReq(v_C_RNTI));

    v_SearchSpaceForULTransmission := f_NBIOT_IncrementSearchSpace(v_TimingStart, 11.0);

    v_TimingInfo := cs_TimingInfo_SubFrameFull(v_SearchSpaceForULTransmission);

    f_NBIOT_ULGrantTransmission(v_CellId, cs_NB_UL_GrantScheduling_Start(cs_NB_SingleGrant), v_TimingInfo);            // one default grant

    //@siclog "Step 5" siclog@

    v_MAC_PDU_RX := f_NBIOT_MacPdu_SingleRlcAmdPdu_RX(-, v_RlcSdu);

    v_NB_L2_DATA_IND := f_NBIOT_MAC_CPMode_MacPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_MAC_PDU_RX);

    v_Timestamp := v_NB_L2_DATA_IND.Common.TimingInfo;

    if (not f_NBIOT_TimeStamp_CheckSearchSpace(v_SearchSpaceForULTransmission, v_Timestamp.SubFrame)) {

      f_NBIOT_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 3 - MAC PDU not received within search space corresponding to UL grant of step 4");

    } else {

      f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 5");

    }

    //@siclog "Step 6" siclog@

    f_NBIOT_MAC_CPMode_SendRlcStatus(v_RLC_CountsInfoListByRef, v_CellId);

    //WA#22_3_1_3

    v_TimingStart := f_NBIOT_GetNextSearchSpace(v_CellId, 200);

    v_TimingInfo := cs_TimingInfo_SubFrameFull(v_TimingStart);
    //@siclog "Step 7" siclog@

    f_NBIOT_MAC_CPMode_SendRlcSdus(v_RLC_CountsInfoListByRef, v_CellId, v_TestLoopMode, v_TimingInfo, v_RlcSduList); //WA#22_3_1_3
    //@siclog "Step 8, 10" siclog@

    v_TransRetransmissionList := {

      cs_NB_UL_TransRetransmission_NewTransmission,             // step 8

      cs_NB_UL_TransRetransmission_ReTransmission(1)            // step 10

    };

    v_DciUlInfo := cs_NB_DciInfo_CcchDcchDtchUL(5, 6, v_TransRetransmissionList);     // use default grant (i.e. maximum grant) //WA#22_3_1_3
    v_TimingInfo := cs_TimingInfo_SubFrameFull(f_NBIOT_IncrementSearchSpace(v_TimingStart, 3.0)); //WA#22_3_1_3
    f_NBIOT_ULGrantTransmission(v_CellId, cs_NB_UL_GrantScheduling_Start(cs_NB_SingleGrant(v_DciUlInfo)), v_TimingInfo); //WA#22_3_1_3
    // MAC PDU as expected for step 9 and 11

    v_MAC_PDU_RX := f_NBIOT_MacPdu_SingleRlcAmdPdu_RX(-, v_RlcSdu);

    //@siclog "Step 9" siclog@

    v_IncrementVRR := 0; /* AM_VRR shall not be incremented for this step as there is an adaptive HARQ restransmission at step 11 */

    f_NBIOT_MAC_CPMode_MacPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_MAC_PDU_RX, v_IncrementVRR);

    f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 9");

    //@siclog "Step 11" siclog@

    f_NBIOT_MAC_CPMode_MacPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_MAC_PDU_RX);

    f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 11");

    //@siclog "Step 12" siclog@

    f_NBIOT_MAC_CPMode_SendRlcStatus(v_RLC_CountsInfoListByRef, v_CellId);

    //WA#22_3_1_3
    v_TimingStart := f_NBIOT_GetNextSearchSpace(v_CellId, 200);

    v_TimingInfo := cs_TimingInfo_SubFrameFull(v_TimingStart);
    //@siclog "Step 13" siclog@

    v_RlcSduList := { crs_PDCP_SDU_15B };

    f_NBIOT_MAC_CPMode_SendRlcSdus(v_RLC_CountsInfoListByRef, v_CellId, v_TestLoopMode, v_TimingInfo, v_RlcSduList, tsc_Poll); //WA#22_3_1_3
    //@siclog "Step 14" siclog@

    v_TimingInfo := cs_TimingInfo_SubFrameFull(f_NBIOT_IncrementSearchSpace(v_TimingStart, 3.0)); //WA#22_3_1_3
    f_NBIOT_ULGrantTransmission_ExplicitGrant(v_CellId, 2, 3, v_TimingInfo);  // UL grant of 176 bits (ITBS=3, IRU=2) WA#22_3_1_3

    //@siclog "Step 15" siclog@

    f_NBIOT_MAC_CPMode_RlcStatusPdu_RlcAmdPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_RlcSduList);

    f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 15");

    //@siclog "Step 16" siclog@

    f_NBIOT_MAC_CPMode_SendRlcStatus(v_RLC_CountsInfoListByRef, v_CellId);

    //@siclog "Step 17" siclog@

    // Void

    //WA#22_3_1_3

    v_TimingStart := f_NBIOT_GetNextSearchSpace(v_CellId, 200);

    v_TimingInfo := cs_TimingInfo_SubFrameFull(v_TimingStart);
    //@siclog "Step 18" siclog@

    v_RlcSdu := crs_PDCP_SDU_8B;

    v_RlcSduList := { v_RlcSdu };

    f_NBIOT_MAC_CPMode_SendRlcSdus(v_RLC_CountsInfoListByRef, v_CellId, v_TestLoopMode, v_TimingInfo, v_RlcSduList); //WA#22_3_1_3

    //@siclog "Step 19" siclog@

    v_TimingInfo := cs_TimingInfo_SubFrameFull(f_NBIOT_IncrementSearchSpace(v_TimingStart, 3.0)); //WA#22_3_1_3
    f_NBIOT_ULGrantTransmission_ExplicitGrant(v_CellId, 2, 3, v_TimingInfo);  // UL grant of 176 bits (ITBS=3, IRU=2) WA#22_3_1_3

    //@siclog "Step 20" siclog@

    v_MAC_SDUList_RX := { f_NBIOT_MacSdu_RlcAmdPdu_RX(v_RlcSduList) };

    v_MAC_PDU_RX := f_NBIOT_MacPdu_BSR_MacSdus_Padding_RX(-, normalPadding, anyBSR, v_MAC_SDUList_RX);

    f_NBIOT_MAC_CPMode_MacPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_MAC_PDU_RX);

    f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 20");

    //@siclog "Step 20A" siclog@

    f_NBIOT_MAC_CPMode_SendRlcStatus(v_RLC_CountsInfoListByRef, v_CellId);  /* @sic R5-172834/R5s170236 change 6 sic@ */

    //WA#22_3_1_3

    v_TimingStart := f_NBIOT_GetNextSearchSpace(v_CellId, 200);

    v_TimingInfo := cs_TimingInfo_SubFrameFull(v_TimingStart);
    //@siclog "Step 21" siclog@

    v_RlcSdu := crs_PDCP_SDU_11B;            // RLC SDU of 11 bytes results in AM RLC PDU of 13 bytes

    v_RlcSduList := { v_RlcSdu };

    f_NBIOT_MAC_CPMode_SendRlcSdus(v_RLC_CountsInfoListByRef, v_CellId, v_TestLoopMode, v_TimingInfo, v_RlcSduList); //WA#22_3_1_3

    //@siclog "Step 22" siclog@

    v_TimingInfo := cs_TimingInfo_SubFrameFull(f_NBIOT_IncrementSearchSpace(v_TimingStart, 3.0)); //WA#22_3_1_3
    f_NBIOT_ULGrantTransmission_ExplicitGrant(v_CellId, 4, 0, v_TimingInfo);  // UL grant of 120 bits (ITBS=0, IRU=4)   @sic R5s170236 change 7: IRU=4 sic@ WA#22_3_1_3

    //@siclog "Step 23" siclog@

    v_MAC_SDUList_RX := { f_NBIOT_MacSdu_RlcAmdPdu_RX(v_RlcSduList) };

    v_MAC_PDU_RX := f_NBIOT_MacPdu_BSR_MacSdus_Padding_RX(-, singleBytePadding, noBSR, v_MAC_SDUList_RX);  // @sic R5s170236 change 8: noBSR sic@

    f_NBIOT_MAC_CPMode_MacPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_MAC_PDU_RX);

    f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 23");

    //@siclog "Step 23A" siclog@

    f_NBIOT_MAC_CPMode_SendRlcStatus(v_RLC_CountsInfoListByRef, v_CellId);  /* @sic R5-172834/R5s170236 change 6 sic@ */

    //WA#22_3_1_3

    v_TimingStart := f_NBIOT_GetNextSearchSpace(v_CellId, 200);

    v_TimingInfo := cs_TimingInfo_SubFrameFull(v_TimingStart);
    //@siclog "Step 24" siclog@

    v_RlcSdu := crs_PDCP_SDU_8B;

    v_RlcSduList := { v_RlcSdu };

    f_NBIOT_MAC_CPMode_SendRlcSdus(v_RLC_CountsInfoListByRef, v_CellId, v_TestLoopMode, v_TimingInfo, v_RlcSduList); //WA#22_3_1_3

    v_TimingInfo := cs_TimingInfo_SubFrameFull(f_NBIOT_IncrementSearchSpace(v_TimingStart, 3.0)); //WA#22_3_1_3
    f_NBIOT_ULGrantTransmission_ExplicitGrant(v_CellId, 4, 0, v_TimingInfo);  // UL grant of 120 bits (ITBS=0, IRU=4)   @sic R5s170236 change 7: IRU=4 sic@ WA#22_3_1_3

    //@siclog "Step 26" siclog@

    v_MAC_SDUList_RX := { f_NBIOT_MacSdu_RlcAmdPdu_RX(v_RlcSduList) };

    v_MAC_PDU_RX := (f_NBIOT_MacPdu_BSR_MacSdus_Padding_RX(-, twoBytePadding, anyBSR, v_MAC_SDUList_RX),

                     f_NBIOT_MacPdu_BSR_MacSdus_Padding_RX(-, normalPadding,  anyBSR, v_MAC_SDUList_RX));

    f_NBIOT_MAC_CPMode_MacPdu_Receive(v_RLC_CountsInfoListByRef, v_CellId, v_MAC_PDU_RX);

    f_NBIOT_PreliminaryPass(__FILE__, __LINE__, "Step 26");

    //@siclog "Step 27" siclog@

    f_NBIOT_MAC_CPMode_SendRlcStatus(v_RLC_CountsInfoListByRef, v_CellId);  /* @sic R5-172834/R5s170236 change 6 sic@ */

    f_NBIOT_TestBody_Set(false);

    //------------------------------------

    f_NBIOT_L2_Postamble_State2B_NB(v_CellId, v_RLC_CountsInfoListByRef.AM_VTS, v_RLC_CountsInfoListByRef.AM_VRR);

  }




